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Combined Sciences: Physics Homework/Extension Sheet T2pt1.5

1. Newton’s 3rd Law of motion
states that...

[ ] A:The force required to cause
acceleration is proportional to
mass

[ ] B:For every action there is an
equal and opposite reaction

[ ] €:Resultant forces cause
acceleration

[ ] D: Objects at rest remain at rest

2. What is the mass of an object that
has a weight of 100 N on Earth?
gravitational field strength = 10 N/kg

[] A:10kg
[ ] B:1000 kg
[] Cc:0.01kg
[] p:100g

3. What resultant force would be
required to accelerate a 1.5 kg ball
by 3.4 m/s??

[] A:4.90N
[]B:2.26N
[] c:0.44N
[ ] D:5.10N

T mfs

[ —

0.01 kg

recoils with a velocity of 1 m/s.
The mass of the handgun is 2 kg.

momentum of the handgun =

4. A handgun and bullet are stationary inside a person’s hands.
When the trigger is squeezed a 0.01 kg bullet exits the barrel and the handgun

(i) Calculate the momentum of the handgun

kgm/s

(ii) Use the law of conservation of momentum to calculate what the velocity of the bullet must be as it exits the

barrel of the gun.

5. A tow rope is attached between a truck and a
stationary car. The car has a weight of 15 000 N.
The tow rope can withstand a tension of 10 000 N

before breaking.

velocity of the bullet =

7

truck

m/s

tow rope

Discuss whether this rope could be strong enough to tow the car with the truck.
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